MATH 110-003, QUIZ 1

September 20, 2016
Time: 15 minutes

Show all your work. No calculators, no books/notes are allowed.

Name (please print):

Student number:

1. The line ¢ has the equation 3x + 2y = 12.
a) Which of the following points lies on the line £. Show your work.
@ (3,2) 1) (=2,9)
b) Find slope and y-intercept of this line.

¢) Find the equation of the line that is perpendicular to ¢ and passes through (2, 0).
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2. Match each equation to its graph. (There are extra equations.)
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3. Sketch the graph of the following function. (Show your work)
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